—

1,00 m

‘° |

P !
1,30 m
2. @ | ’

\‘90 0,60 m ‘
0 | |
l - ) I *

e 3 1 0,05 m
0,40 m

3,50 m

O] -
Varje vecka
FH=1,0m 2 Every week
T ’ Jede woche
NR. |Description MA ltem Number| Qty N~ Chaque semaine
Varje sasong
1 |1937 x 1266 x 484 8035541 1 ] x | Every season
2 |MVBF M8x35 mm 8008578 1 ig';sé* 76 Jedes Jahrl
\ ) Chaque saison
3 |MVBF M8x30 mm 8039278 3
S
4 |@27x11,5 mm 8005956 4 N \
8008849
6 |Lock Nut M8 8008795 4
7 |@18x10mm M8 8005958 | 4 HAGS T
8 [1000x121x21 mm 610072-03 | 2 waw.hags.com
9 |1413 x 494 mm 8035585 | 2 || Rex
10 |MVBF FZY M10x50 mm 8039294 4 MASW2721 9
11 |M6M-8 M10 soos7oe | 4 || 1(2)
12 |@21,3 x 630 mm 8002626 1 HB | Uw | 2024-01-11 |5




NR. |Description MA Item Number| Qty
1 1937 x 1266 x 484 8035541 | 1
2 |MVBF M8x35 mm 8008578 | 1
3 |MVBF M8x30 mm 8039278 | 3
4 |@27x11,5 mm 8005956 | 4
5 |@9x18x2 mm o | 4
6 |Lock Nut M8 8008795 | 4
7 |@18x10mm M8 8005958 | 4 HAGS R Sy
8 |1000x121x21 mm 610072-03 | 2 www-hags.com
9 (1413 x 494 mm 8035585 | 2 || Rex
10 [MVBF FZY M10x50 mm sosoz04 | 4 || MASW27219
11 [M6M-8 M10 goos79s | 4 || 2(2)
12 |@21,3 x 630 mm 8002626 | 1 HB [S®>|Jw [ 2024-01-11 [5




	Sheet1
	Drawing View1
	Drawing View2
	Drawing View7

	Sheet2
	Drawing View10
	Detail View A (1 : 10)
	Detail View B (1 : 5)


